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Given set {1, 2, 3,
probability that number is multiple of 4 or 6 or 7.
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, 50}, one number is selected randomly from set. Find
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Area bounded by 0< x< 3,0<y<minimum (2x +2,x%+ 2)is A, then 124 is




JEE MAIN 2024 = -+ PAPER DISCUSSION
V2 —( ;47 +—[4+2)
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The value of f://a V1 —sin 2xdx is
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32
Remainder when ((64)32) divided by 9 is
= 3')_’
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1 m

Let cos (2§in‘1§) = oi% yﬂ holds true for x = = where m &n are coprime
further a & B are roots of quadratic equation mx“ —nx —m +n = 0(a > B) then
point («, ) lies on the line B Sinlw =& F e = o )
0 5x —8y =9 G320 = g m=2 P=
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99

If & B are roots of the equation x? —vV6x + 3 = 0 and where Im(B) < 0. If — +

B
B8 = 3"(a + ib), then a, b, n. X:\/Z:t\/g——l?.
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Distance of (2, 4) from the line 2x + y + 2 = 0 measured parallel to the line

V3x+y+2=0: .
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v+ | T, 19 = Mo+ 2o
. | e
Y E—— are in G.P. such that a, = -, a, # a, and every term is equal to

8
arithmetic mean of it’s two successive terms. Find@0 -34g-
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[fP(3,2,3)Q(4,6,2)R(7,3,2) are the vertices of APQR, then find ZQPR =

: T 2 (%,2)>)
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g
8 identical books are to kept in 4 shelfs. Find the number of different

ways This can be done. dAS‘hM ghl%& —
@ s X1+ K+ Xt Xy = &
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Ifina,inb,IncareinAP.andlna-n2b,In2b-In 3c,In 3c-In aare
| I ——

inA.P.thena:b:cis . 2 Lo b= LAq_fLA('
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2 [y =% il 3 9
L 2N "y = Y
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), yE . ao
Ifr=|z|,0 =arg(z) and z= 2 - 2i tan then find (r, ). % :
swy 7 0
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In which interval the function f(x) = x2-62—1 s IS increasing: jo ,( - oo
4
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(o, B) lies on thnd (o, B) also lie on chord with mid-point
N

( 1, 2) of another parabola x% = 8y, then value |(8 — 7[—3) (ax— 28)| is
o = £ .’ P =2t =9

Xt Y= ’r':. S)
/ [ = ) 1A \-Y(Yt)) = -9
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Unitvectori = xi + yj + zk makes angl
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: . 24 . . 194
The mean of 5 observations is = and variance is =

: . g : : ,
observations is -~ then the variance of first four observations is

. If the mean of first four
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If f(x) =In (sz) then value of225(f (x) — f”(x)) atx = ;
,F()L):, JM(‘ x) - ﬂh(!-rx)
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A function f(x) satisfies the differential Equation f &v dv= d 7
/ (cos G)) Z_Z = Yy COS (%) + %_ also given that f(1) = g 3
Then find f (x) w&:\/x S Y=V [gm\/; ﬁ*«'n-l—C:I
(orV (V’“"‘j—;) = VGaaV +| ()= Do + ¢
S @/‘5 = ,QM\
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[fx*=2Y+2023&x,y e N. Fmd§+y;> (Yo) = 160
9 edf’ (Q'O)'L—_ 2SO
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If 0A=d,0C =b and area of AOAC is S and a parallelogram with sndes
parallel to 0A & OC and diagonal e 12a + 4b, has area equal to B, then —js 16 2

equal to : S - '/7_
b
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Ao S,
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3c0Ss2x+Ccos32x

———— = x3 — x? + 6, then find the sum of roots.
COS" X—SIn-x

LHS Coxex (24 Co3 20
(CMix-’—Sw?‘x) ( C&s\l‘ﬂ -’\-Sw:ix - (o3 Sm"‘.,\)

3y (oam = Ot
\I/—-f b S Con | = SE"?X

1 =1 (3/" ™ __®
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Consider function f(x) = 2x + 3x*/?

@ Exactly 1 local minima and no local maxima ’F ()=

Exactly 1 local minima and 1 local maxima — ve @ S o

@ No local minima and 1 local maxima

No local maxima and 1 local minima
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Lines( + 2y - 10 @and@ -y-2 @intersect at A and lines 2x -3y + 2 =0 and
4x + 3y - 5 = 0 intersect at B. Find perpendicular distance of (-5, 2) from the line

— —x-n_d—_-lo A(z)l“) 71—5&;2:0
A= o R S
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